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2022

ECONOMICS
Paper : ECO-HC-2016

( Introductory Macrqeconomicjs’)

( Honours Core )

Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions

1. Answer any ten from the following questions :
1x10=10

o 2ARd R GG e Ted o -

{a) Who was the first economist to have
coined the term ‘macreeconomics™

‘i3 ALY AR e =dRRen
aace fifker 7 | ,

(b) What is meant by depreciation cost?

HrHi 13 o R @ aw?
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(c

(@)

(e)

(@

M)

U

6

Distinguish between inte
rmedi
and final goods. * #1e goods

0TS T T g9 T s et

Give one example of transfer payment
BT AR o1 Sz fan

Define gross domestic ﬁi’oduct.
g?qamiNﬂﬁaaaﬂmﬁhn

What is velocity of cu'culatmn of money?

qmaewaaﬁﬂmm1%7

What is money supply?
W o Ry

How does cr_edlt creatlon affect money

'supply?

WWWWW@WW
CAA™ ? m

‘What i§ liquidity preferenee?

_vwwnﬂsﬁ1$?

Define open market operatlons as a
tool of monetary policy.

YRR e Ry
T e R T o e
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( Continued )

(k)

v

m

n)

L

(3)

Distinguish  between ' - demand-pull
inflation and cost-push inflation.

ﬂﬁﬁ!avm%'§?P$ﬁ3!ﬂ¥'ﬁﬁﬁﬁ3‘¥ﬂﬁﬁﬁ?

mﬁﬁ<m#¢rﬁ¢ﬂ¢mw

Which country is facing ‘hypennﬂatxon
recently?

ﬂﬁﬁﬁ@'ﬂﬂﬁi@ﬂ?ﬁi@ﬂﬂ‘ﬁﬁ@'ﬁﬂiﬁ‘ﬁ
I (TR?

Mention Say’s law'of market.

'3 Ta R Ta 1 o

State one essential condi_tiqn of
Keynesian income determination.

@R WH RRR R 56 b1 ey
01

In which case is LM curve horizontal?
f Cwq® LM (IS Seie |
. A ’

2. Answer any five from the following
questions :

@ﬁﬁﬁﬂﬁﬁﬁiﬁ@ﬂﬁﬂﬂﬁﬁa%waﬁm
(a) Distinguish between real GDP and

22A /1097

nominal GDP.
oFe T TRl BT WE A P OTE
Beomad TS AN e T4 1

2x5=10
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(4) (5]
i(b) Mention two types of transactions that 3. Answ?r any four from the followir;g
are included in the current account of questions : s 5x4=20
_balance of payment. ToR 2eARS R e siRoR e
*Rem SHer shre Rere wege @ Ry (a) Distinguish between balance of
(T ATY SCE 9 | payment and balance of trade with
example.
(¢ What do price indices show? TIRT S AReIE el WF PSR
T PF [ @™ 2 TSR S N4 Ay 3041 |
o (b) Distinguish between current and capital
(d) Distinguish between net domestic accounts of balance of payments.
duct and - , . _
product and net national product ARG SR oS Rorl W ’f"@ RBFR
VT T T WF T B oA erS TS N2 ey =7 )
MY A 0 :
- () How would you measure gross national
s . expenditure? State the limitations of
(e) Wnt; any two functions of money. this method.
CRTC o1 R forayt o
e ™ P I T QI PR o IR @
- ' 4 M ﬁlﬂlﬂ'ﬁﬁl’l’[{ Ey I
() Whatis speculative demand for money? A .
THR FEALPTS Sfeam ¥ 2 (d) Discuss the modern approach to money
supply.
{g) Define inflationary gap. TR AR CFIS SYRAF 4IRET ST
TP F14 e faan Al
| (¢} Explain the three motives for demand
(h) What is money multiplier formula? for money according to Keynes.
T SR I R 2 R No WA R wfeem o
I
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{lj] .What is liquidity trap? . ‘Explain its
significance on monetary pohcy

EFWH?TW?$?§?T§$?§%§;qypgam#naa‘I

(g). Explam the causes for the shlft of the IS
and LM curves.

IS oF LM @"“WW@WW@
[N

(h) What is ﬁscal mulupher? What factors
affect fiscal mult.lpher?

: TIR BT ﬁs*z Sl su e
wﬁmﬁsﬁs?

4. Answer any ‘ four' ‘from tl-ié'
quesnons : '

wmﬁ@mnﬁ%ﬁmm

following
10x4=40

(a) Explain the various bas1c issues studied
in macroeconomics.

RS HINES T =
| WWW

(b) - Discuss the process .of natio

nal inco
accounting in. me

&N open economy,

T& w9 TBur
01 TR 2T zemoan
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(c

(@

(7)

“Explain the process of -circular flow -of

income. In what ways do international
transactions affect this flow within a
closed economy? . , 7+3=10
e LI Tm N
wiRfee wEET SMH-AME @} ERTE
R HORIRS FA?

Critically explain the cash transaction
approach to the quantity theory of

.7 money.

- (e)

22A/1097

qmqﬁmmaﬂﬁﬁﬁww

:‘WWWWI

"Compare and contrast between cash

transaction and cash balance approach

to the quantity theory of money Which

one is superior? Give reasons. 7+3=10
SR TG TS WSS AW (FTA-C ST

o &l {RAR T 1 SR N4 Ref

m@ﬂzﬁlmﬁ?{f@ﬁml

Explain the various tools of monetary

policy. Which one is appropriate to the
developing countries? Give reasons. 8+2=10

m%ﬁhw@m@mwum
w3 e e IR ’wlm IR

ool
¢+ (Turm Over)




(8)

(g9) Define inflation. Explain social costs of

inflation. 3+7=10
TR e ) wrPRe iRe
TR IRM AN

(h) Evaluate the Keynesian model of income
determination.
T R R o w4

() Compare the classical and Keynesian
models of income determination and

point out the fundamenta] differences
between the two.

ﬁmw@ﬁﬂwﬁwﬁwﬁm
S TN TR TR A e

() Derive IS and LM curves, Explain their

properties. ' 6+4=10
IS SI¥ LM G391 781 e 7041 1 ‘aeq oz
[ F90
* % &
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ECONOMICS
Paper : ECO-HC-2026
( Mathematical Methods in Economics—II )

( Honours Core )

Full Marks : 80

Time : 3 hours’

The figures in the margin indicate Jull marks
‘ Jor the questions '

1. Answer the following as directed (any ten) :
1x10=10

wore fRarpRs Aot SRRt Tes far (R e wedt) -
(a) Write a unit matrix of order 3 x3.
3 x3 AT bl GFF (Herew B |

(b) If the two rows (or columns) of a
determinant are identical, the value of
the determinant will be (zero/one).

( Fill in the blank )

o1 P 181 1R (1 v8) oz =@, o
ﬁ#ﬁﬁﬁﬁﬁiﬁ_(ﬂ/w)n

(4 3 @ )
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(2) (3)
“(c) Al ‘ »diﬂ'erentiable f};nctionﬁ are : 9Bl e FATIR iﬁ RCRAIABG
continuous, but not all continuous o @ Auke ‘cfam fRfws @7
- functions are differentiable, KK
( Write True or False ) i) 2x2
CE SN TR SR =, R e i

> (i) 3x3

fRifves FeCR SRR 2 | (i) 4x4

(7 7 =Py forey ) (i) 2x3

( Choose the correct answer )

(d) Is (AB)’ =B’A’ correct? ' ( om eI AR Bfersar )
(AB)’ = B'A’ 0% T ? '

' (h) What is the rank of a null matrix?
(¢) Every homogeneous function s

homothetic, but all homothetic . 951 e (e SR & 297
functions may not be homogeneous. |
( Write True or False ) ‘ i 1s x2 +y2 =1 an implicit function?
TSI TP FACHL TR T, Ry Toca ] | x2 +y? =1 B TR Fo A ?
FAAR TP T LIS N |
(1% 7 wprey forar ) () If Iis a unit matrix, then 5I will be,

Tt 1 981 7 qoew W, (o8 51%7
() Define idempotent matrix. (J a triangular matrix / <51 fUPER
T CRerems et fn o o '
o H (i) a unit matrix / 9O G5 (T
(]| aving an objective function Wlth tw ! . - T ,
explanatory variables and one equ alit; ((::3 a scaiar r/n:;m ’ﬂ% i:; Wﬁll.
)} a vector

constraint, the order of the second-order

bordered Hessian determinant iy be : ( Choose the correct answer )

(o= Tawehl TR Bforear )
( Continued ) 22A/1098 ( Turn Over )
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(4)

(k) What is the trace of the matrix[s 2}9
1 :
5 2
1 3 CITTFPOR ey R 277 9

()  The solution of a differentia] equation of

(iti) Both (i) and (ii)

—_—

(S)

(i) industrial products
ST G99 NI

(i) S (i) TEO!

(iv) service

first-order consists of G| NI 91
YT -GS 90T HIFEg
1 < TRAFIR ST ( Choose the correct answer )
1) complemen :
e R (o Tawh! A1f% Sfred )
() particular solution / R s 2. Answer the following questions (any five) :
(i) Both (i) and (i) / (i) s (ii) m 2x5=10
(iv) trial solution / *Spmq S o fa eppTRd Ted e (R G #fiwh)
( Choose the correct answer ) (a) Give an example of a diagonal matrix.
(&% Tt 1f Bhvenr ) &1 Rl (T et fa
(m) Define saddle point,
that for any scalar A
o e e f by
( o i AMA+B)=AA+AB
n) Diff ion i :
4 ot e equation IS used in discrete/ R e S TR AT AR 2 I @
ntinuous time analysis, AMA+B) = MA +AB
i +B)=AA+
fo/efe T Remers gon g,
= | ( Choose the correct option ) (c) Give an economic interpretation of
( um ey 1% vt ) Lagrange multiplier.
(o) Cobweb model is very v Flee QTP LSS =T S9[CoET |
TS SR s appropriate for
e qE 7y (d) Define vector space with example.
1cultura] products
i TTRIPTR A Fo ke fiy |
22A/1098 22A/1098 ( Turn Over )
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(6 )

(e) Find the norm of the following matrix

(g)

(b

O T I T Sfareay -
32 6
A6, 4 12
5.8 10

Define intertemporal equilibrium

W:Wﬁﬁmqmﬁm'

- Find the rank of the following matrix :

mef?{ﬁw;
E

Deﬁne hOmothetic

example, function  with

WWWﬁwaﬁm

3. A.nS i
wer e follo ing questions (any
th W foun :

(a)

22A/1098

x4=20
m@ﬁmmmﬁm(ﬁmm). 5x4=2

Prove that
AT 91

N(AB) < Na) v,

( Continlled}
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(7))

(b) Evaluate the following determinant :

were fual MROR I My 741 -
x 5 0
3 y 2
9 -1 8

(c) Find the extreme value of the following
function :

weTe T FEWCOR b9 T ey 511
Z=x2+xy+2y2 +3

(d) Find A% -5A+7I from the following

matrix :

o i (Neews o/l A2 -5A+71 R

4l :
A_32
|15 =1

fe) Determine whether the following
function is homogeneous. If so, of what
degree?
woe il Tl P Fo 7@ (A=W, B
91 | 3ft =, o8 R wram 2

2
f(xy,w)=%—+2nu

( Turn Over )



(8)

m Pl‘ove that
differentiable
is continuoyg

fa function fx) is

at a point x = ¢, then f(x)
at x=¢,

(9)

woe oyl e Wi SEI S (i) (AR
s o (i) AR (TEEwE RO

ST <91

|
emqwmwrﬁqﬁwﬂx) = o S Y =C+Iy +Gq
AR \GQ"M’ CO®  Forgyy o S C=a+bY (@>0, 0<b<l)
(p) A price discriminating firm has the
(9) Given X’=[4 ' following average revenue functions :
column vect 1 X2 x3], write out the | B =63-4Q,
¥ Ctor X ang find xx-’ P, =105-50,.
X'= j
s 1 B, e
: A XX/ frefe <1 If total cost function C=20+150Q,
(h) Prove that the Cobb then find the equilibrium outputs and
function Q= AK i{?ouglas production equilibrium prices. 5+5=10
homogeneous progucsie. . LReATY 73 ReeRigael T Sl afebi B S S
i ction function, if | TR wers Wl TR
2 T @AM oo g _ | P, =63-4Q;
AN T O = A ;*ﬂ’ (908 F'3-To{z10q ! P, =105-50Q,
AK®LE gb1 sremafys | Ty
WEQWWEI a5 ‘ Py =75 Q3
| T T T A C=20+15Q H, @
4. . | ST TeAwR AR W SP W9
Answer the following questions (any foun - e |
W 10)(4:._40
fes < 23 B fi (R @ IR ) i {c) A monopolist produces his product in
1 two different plants and his total cost
(a) Sol : :
4 inzve e fOllovm}g Simple national ‘ (TC) function of the two plants are given
(i) Oén ¢ model using the method of ! by
L ramer’s rule 3 : |
inversion : e mat5r1x | TC, =10-2Q; +Qf
D= i
=0 TC, =15-60, +202
22A/1098 . 22A/1098 ( Turn Over )
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" Solve the

For each F(gy)=0 u
. » se
function rule to find @ .
) dx . 5+5=]_O

SRS T gy '
, T IR ooy
F(x, y) = 0 %ompq o Y e et

() Fix, y)=3x2

=0
+2xy+4y3 =0

follow;
equation : llowing

dy,, .
dt dy=12, YyQ0) =2

{ Continued )

(9)

(h)

22A/1098

(11)

Solve the following first-order difference
equation :

o 1 AYT-TIE (O ARFICICO! TR 91 2
Ype1 -5 =1 y0) =%

The consumer’s utility function and
budget constraint are given as follows :

U=18xy+9y subject to 6x+3y=15

Find out optimum purchase of x and y
which will maximize the utility of the
consumer.

ToreTeR Sl TR wie e AfSTHE
FUIEC oS Wl SR

U=18xy+9y JACH 6x+3y=15

TerereR’ Sogmiel THifte @RIN IR x TE
y AR R 27 AR, s 0

A producer’s cost function (C) and
production function (Q) are given below.
Find the optimum combination of
inputs [labour (L) and capital (K))
in order to minimize the cost of

production

C=2L +4K subject to Q = SL%K';' =64




(12 )

m%awmww)w%wmw
Q) = fim tz= W Ry T8 IR
By Tomrm [ wy L) 9% @ (K)]
ey W 3 =°7, fiofy <9

1
C=2L+4K %% Q=8LYK: — 64

() Find equilibrium income (17__),
consumption (C) and tax revenue (T)

from the following simple national
income model :

ORI O R —
" (V) o1t T (C) W 79 w2 (T) Rl
4
Y=C+I0+Go
C=200+0-8(v-T)
T=50+0.3Y
Iy =500
G, =400
() Analyze the following
stability :
Wﬁmwwﬁmaﬁmﬁmqw;
) Q4 =14-3p
Qs =-10+2p

% =4(Qd = Qs)

market model for

%* % ¥
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